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Section A (36 marks)
For each question, choose the most suitubie answer and wrile s numbeay
in the brackeis provided.

. Which of the foliowing s made manly from a nalurct moledai?
Rubberfyre

1)
2) Plostic bolile
3) Styrofoam box
A\

/

4} Pencii sharpaner }
2. Whichis the best rmatarial for making o raincoat

(1) sile

(2) woo!

(3} piostic

{4) cofion { !



3. Which ol the following does not belong to ihe same group as the re
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4. Which of e felidwing objacts will floo” on water?
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5. The table below shows sorme rivatenals sassitied Under 3
different groups.

- !’ m— —
Group X L Groupy \ __ Group? )
)
Wood Silk ! Roc |
Flour Nory i Meatel
. | |
| W 3 ! ] :

2

"W is classified under grouo X Which o) fhe maiancis is W' ?
grout
{1} Cotton (2} wWoo!

(3) Clay (4)  iron 1 )

4. Some animals have ¢ 3-stage life cycle os shown below,

Adult

Young — Foc
- Which of the foliowing animais have i e cycie”?
A Butterfly
B: Cockroach
C: Chicken
D: Mosguito
(1} Aand B only {2y Saond C only
(3) A.Band T oniy 4] 5, Cond D only { )



7. How are the butierfly ond the mosauiio otike?

A; They lay eggs oniand.
B: Theb lavae ive in water,
C: Thay have o <stage life cycle.

& The diograrvbaiow shows g ferilized hen's egg. Which pat of ie eay
prov’icz’c;\q food {or the developing chick”

L Aninct xlays an eqq The egg hatchis into alerve, The lan a,
,prm a2 cocoon affer sometime. Then o oclult onma!x emerges frorm
the cacoon, Which diagram below shavws the life cycle of onimme] X%
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10. The firs smqs‘ in ihe daveiopment of @ bearn seed s
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11, Referto the diagram of the seecting below, What orows fowaris
water?
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N

Which of the tollowing shows the next stoge inthe life cycle of ihe: ol
above T

Futterly puna

Masquito Pupa Mosquito



Michae! has a magnal, a thumblock and on objeci X

5]

'lld‘ﬁﬂc (‘

— T Objeet X

He held onio the thumblack ond ploced object X ouiwc;mh ;‘r"e
maganel and the thumbiack as shown C"“-’"W'“* Whi
be made of so that the thumbtack vl mwove fowerds fhe mogn =
\Nr_\c nreeased?

/\j‘
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A: Glass
8: Iron

C: Stes)
D: Plostic

(1) Aonddony - (2 A and D only
{3) B andConly (4 C ond D oniy : ;
14 What wil h’Cipp‘en ite] fh@ S ‘CE) of mcketwnen ihe jEatece: ﬁiﬁ.; is broug?'ﬁ
neor it?
" magnot <t - e e ok
{.:.w_w z{\) (. o} ( :, ) <l

T opencils

(1} 1Fwift move aweny frons fhe m cn, ot

(2} will move towards the magnae

{3) 1 will move fowerds and then arway rom e my g =3

{4) 1 will noi move at-all. { i

~d



150 ook al tha Z magnets, Xand Y, balow,

The 2 mognets repel each other, Whiat are the lilely poles of "A'ng "R 2

Pole A1 PoleB
) ! IN-L Oie N"Do'@_

: S-pole
;\i-pole‘:
| S-pole:

o

Whicn of the “oilowing crrangements wili cause the three magngt: w
push ona anofher away?
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17.

Henry wanifed o find out whether ing mumiser af fums of o wite
affecl the sirength of on electromagn

ot Which hao

experimenlal sef-ups shecld he choose to corry out the expuenment!

i
: |
10 turns E 15 turns
l
1] !ZIZ]Z[J | - T
b'cee*l’//(’zw Steet- ! 1
rod | i rod | 1
- | N |
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(1) A andB only LA A ond £ only
(3) py Cand G onldy {

B and C only




15, Andron nol: cor oa made into an electromognet when electicity
Aows CIouUnd T as shown in the dicgrom Defow,

batterles

AN
) ,.v‘//

fron sufl

QO

in order for the on nail 1o attract more pins, we could

Al use o longer wite

B increase tha number of batteries
Croouse 'atonger nail

T increase e nurnber of coils of the wire

Y Aond B only
23 Aanc O only
{3y Band D oniy
@ Cand D only

AN
N~



Section B (14 marks)
Write your answers in the blanks provided.

19. Write true or false in 1he boxes

5 provided.

: | —

N HTrue/Foise |

| |

a. Assad will grow into a sesding } i

with suitable conditions !

— . e

b. Aseeding will bear flowers and |

fruits. ‘ :

A o . — ) - .;.

| s

c. A cockroach nymph mosts onlv |

|

- . - :’

d. The voung of cockiodchies, ;

bulierflies and maoths ook e their |

parents. i
200 Arrange-these mate net hardnessifron

hardest). (2m)
Brick Cuork Wood

Scllest

s QUeorarg 1o n

___-_w_._,___i
]

L



1. Jobn ploced ihree sheels of different motadals over the mouihs of
three containers, He then poured @ speoorful of water onte each
maternicd, Thizwos what he observed.

walar
" remains here : feelswat = feals wel

SIS Material A \axding;@— Materio) B Sy Baterial ¢
| - o
i i
(] C _‘J L:__}J_ water collects

hame

[0} Ronkihe meteral according to he ismount af water eoch

can obsoro,(im)

|

Absorbs the graatest amount of water

P
L

Jt

Absrins Hhe teast amount of water, L

b} From e above resulls, which of the fhree materials is the best for
wiping puddlas o?\(votéron the Roor ? Why ?2(1mi

i2




22, Anironod can be made into o magnel oy stroking itwih o
permonent magnet. Lobel the N-pele and S-pole in e boxss
provided.{)m]
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23. Study the pictures of a family of raobits shown baiow.

Faorbher

sbart hale

dnxopy

1
frere B 5 T
freg haic ) 1 . - TN
&

e \

S‘r’—&&‘\ S »*} =

cRspriog X

Nome one charactedstic that offspring X hos imhedi=d from s iother
(irn) ~




4. The diogram Hejow shows the differes \T stages sfgrow!n of o seed,

.. Stage C

tesd Besidex air, whal are fhe *he'! condifitns neadad for the send to

C ~ > _")* " ‘,.. e/") B ‘ m’

{ch Nume the pards marked X. {Tm
(¢} Whats the function of the parts mark d>"7 {trm)

- et

1 .

[di Al which stage can the seedmu mutke its owrn food? {1m;

14



25. The diogrom below shaws three loaling dag magnets. In oraer ¢
moke this happen, the maanets imust be aranGad In Q certam way.
Write either 'N-pole’ or ‘S-pole’ in the olanks provided. {(Pm)

s i et

(V) & N-pole

)
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10) 2

11) 4

12) 2
13) 2

14) 2

15) 2
16) 3
17) 2

18) 3
19) a) True
b) Talsc
¢) False
1) False

Cork Wood

b) Material B

{2002)

N g
Tt has inhavited

father.

a)
b) Seecleave:

c)

als0 needs

gives ths p
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Stage D

Souch=pale

1) Norxtre—pale
1) N-pole

S-polw
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